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1.  Suppose that Welch Honey Inc. has assets with a current market value of $35 million and outstanding debt that matures 8 years from today for $40 million.  The standard deviation of returns on the firm’s assets equals 46%.  Welch Honey is considering issuing additional debt that matures for $5 million 8 years from today and using the proceeds to repurchase shares.  Assume you wish to value Welch Honey stock after the debt issue/stock repurchase by viewing the stock as a call on Welch Honey’s assets.  Of the variables that you would have enter into the Black-Scholes Option Pricing Model, list only those that would change due to this debt issue/stock repurchase and give the a number(s) for these variable(s) if possible.  D8 = 45

2.  Assume that in 1998, Welch Honey Inc. had a target EVA of $3 million and an actual EVA of $5 million.  Assume also that Welch Honey had an actual EVA of $6 million in 1999.  Finally, assume that Welch Honey expects their EVA in 2000 to equal $8 million.  If Welch Honey uses Harnischfeger’s self-adjusting approach to setting EVA targets, what will be Welch Honey’s target EVA for 2000? 
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3.  What is the primary source of (or necessary condition for) potential agency problems that we discussed in class?  One individual (the agent) makes the decisions and another individual (the principal) is the primary beneficiary or bearer of costs from these decisions.

4.  List two ways in which increasing the debt (and repurchasing stock) in a firm’s capital structure helps to resolve stockholder/manager conflict.  

Two of:  keeps management's feet to the fire, takes away excess cash away from management so they won't waste it, allows management to own bigger percentage of firm's equity.

5.  Which of the capital budgeting decision rules we have discussed suffers from being difficult to use because of the potential for multiple solutions?  IRR, Note:  Payback and discounted payback may also have this problem

6. Your boss has asked you to calculate the discounted payback period for a project being analyzed. What has he asked you to determine?  Number of years to recover initial investment with the present value of cash flows.

7.  Nader Wins It All Inc. is considering building a new Green Factory.  The fixed costs per year at the new factory will equal $140,000 per year.  The fixed costs at Nader’s corporate offices will remain at $350,000 per year.  If Nader’s tax rate is 35%, how will this information regarding building the new factory affect Nader’s incremental cash flows 2 years from today?  (Note:  use + to indicate an increase in cash flows and a – to indicate a decrease in cash flow).  -91,000 = -140,000(1-.35)

8.  The new factory discussed in question 7 will cost $760,000 to build and will fall into the 5-year depreciation class (under the 1986 Tax Act).  If Nader’s tax rate is 35%, how will this information regarding building the new factory affect Nader’s incremental cash flows 2 years from today?  (Note:  use + to indicate an increase in cash flows and a – to indicate a decrease in cash flow). + 85,120 = +760,000(.32)(.35)
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9.  ATT EverSplit Inc. is trying to decide whether to continue to operate one of its factories or sell it for $15 million.  If the ATT continues to operate the factory, ATT estimates that there is a 20% chance that the factory will generate $4 million per year in net cash flows and an 80% chance that the factory will generate $1 million per year in net cash flows.  Sketch a decision tree (but do no calculations) on the basis of this information.
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10.  What is sensitivity analysis? Analysis of impact on NPV of changing one input variable.
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